



Löse jede Aufgabe.

**Antworten**

1) 5 feet 9 inches + 3 feet 10 inches = \_\_\_\_\_

1. \_\_\_\_\_

2) 4 feet 8 inches + 2 feet 11 inches = \_\_\_\_\_

2. \_\_\_\_\_

3) 4 feet 2 inches + 2 feet 6 inches = \_\_\_\_\_

3. \_\_\_\_\_

4) 4 feet 4 inches + 1 foot 10 inches = \_\_\_\_\_

4. \_\_\_\_\_

5) 5 feet 8 inches + 2 feet 9 inches = \_\_\_\_\_

5. \_\_\_\_\_

6) 5 feet 2 inches + 2 feet 8 inches = \_\_\_\_\_

6. \_\_\_\_\_

7) 2 feet 9 inches + 1 foot 10 inches = \_\_\_\_\_

7. \_\_\_\_\_

8) 2 feet 5 inches + 1 foot 10 inches = \_\_\_\_\_

8. \_\_\_\_\_

9) 3 feet 3 inches + 1 foot 5 inches = \_\_\_\_\_

9. \_\_\_\_\_

10) 2 feet 2 inches + 1 foot 10 inches = \_\_\_\_\_

10. \_\_\_\_\_

11) 4 feet 3 inches - 1 foot 9 inches = \_\_\_\_\_

11. \_\_\_\_\_

12) 5 feet 8 inches - 1 foot 10 inches = \_\_\_\_\_

12. \_\_\_\_\_

13) 2 feet 10 inches - 1 foot 11 inches = \_\_\_\_\_

13. \_\_\_\_\_

14) 2 feet 2 inches - 1 foot 7 inches = \_\_\_\_\_

14. \_\_\_\_\_

15) 4 feet 7 inches - 2 feet 9 inches = \_\_\_\_\_

15. \_\_\_\_\_

16) 5 feet 5 inches - 4 feet 6 inches = \_\_\_\_\_

16. \_\_\_\_\_

17) 3 feet 8 inches - 1 foot 9 inches = \_\_\_\_\_

17. \_\_\_\_\_

18) 2 feet 10 inches - 1 foot 11 inches = \_\_\_\_\_

18. \_\_\_\_\_

19) 2 feet 6 inches - 1 foot 9 inches = \_\_\_\_\_

19. \_\_\_\_\_

20) 3 feet 8 inches - 2 feet 9 inches = \_\_\_\_\_

20. \_\_\_\_\_



Löse jede Aufgabe.

- 1) 5 feet 9 inches + 3 feet 10 inches = 9 ft 7 in 69in + 46in
- 2) 4 feet 8 inches + 2 feet 11 inches = 7 ft 7 in 56in + 35in
- 3) 4 feet 2 inches + 2 feet 6 inches = 6 ft 8 in 50in + 30in
- 4) 4 feet 4 inches + 1 foot 10 inches = 6 ft 2 in 52in + 22in
- 5) 5 feet 8 inches + 2 feet 9 inches = 8 ft 5 in 68in + 33in
- 6) 5 feet 2 inches + 2 feet 8 inches = 7 ft 10 in 62in + 32in
- 7) 2 feet 9 inches + 1 foot 10 inches = 4 ft 7 in 33in + 22in
- 8) 2 feet 5 inches + 1 foot 10 inches = 4 ft 3 in 29in + 22in
- 9) 3 feet 3 inches + 1 foot 5 inches = 4 ft 8 in 39in + 17in
- 10) 2 feet 2 inches + 1 foot 10 inches = 4 ft 26in + 22in
- 11) 4 feet 3 inches - 1 foot 9 inches = 2 ft 6 in 51in - 21in
- 12) 5 feet 8 inches - 1 foot 10 inches = 3 ft 10 in 68in - 22in
- 13) 2 feet 10 inches - 1 foot 11 inches = 11 in 34in - 23in
- 14) 2 feet 2 inches - 1 foot 7 inches = 7 in 26in - 19in
- 15) 4 feet 7 inches - 2 feet 9 inches = 1 ft 10 in 55in - 33in
- 16) 5 feet 5 inches - 4 feet 6 inches = 11 in 65in - 54in
- 17) 3 feet 8 inches - 1 foot 9 inches = 1 ft 11 in 44in - 21in
- 18) 2 feet 10 inches - 1 foot 11 inches = 11 in 34in - 23in
- 19) 2 feet 6 inches - 1 foot 9 inches = 9 in 30in - 21in
- 20) 3 feet 8 inches - 2 feet 9 inches = 11 in 44in - 33in

**Antworten**

1. 9 ft 7 in
2. 7 ft 7 in
3. 6 ft 8 in
4. 6 ft 2 in
5. 8 ft 5 in
6. 7 ft 10 in
7. 4 ft 7 in
8. 4 ft 3 in
9. 4 ft 8 in
10. 4 ft
11. 2 ft 6 in
12. 3 ft 10 in
13. 11 in
14. 7 in
15. 1 ft 10 in
16. 11 in
17. 1 ft 11 in
18. 11 in
19. 9 in
20. 11 in